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Exercise 14.1

1. Find the common factors of the given terms.

(i) 12x, 36

(i) 2y, 22xy

(iii) 14 pg, 28 p? g?

(iv) 2x, 3x?, 4

(v) 6 abc, 24ab?, 12 a?b

(vi) 16 x3, - 4x2, 32 x

(vii) 10 pq, 20gr, 30 rp

(viii) 3x2y3, 10x3 y?2,6x2y?z

Solution:
0] Factors of 12x and 36
12x =2 x 2 x 3 x X
36=2x2%x3x3
Common factors of 12x and 36 are 2, 2, 3
and,2x2x3=12

(i) Factors of 2y and 22xy
2y=2Xxy
22Xy =2%x 11 x X xy
Common factors of 2y and 22xy are 2, y
and, 2xy=2y

(iii)  Factors of 14 pg and 28 p? q
14pg=2x7xXpXxq
28p?Q=2X2XTXPXpPX(Q

Common factors of 14 pqand 28 p>q are2,7,p, q

and, 2 x 7 xpxq=14pq

(iv)  Factors of 2x, 3x? and 4

2X =2 X X
IX2=3 x X xX
4=2x2

Common factors of 2x, 3x2 and 4 is 1.

(v)  Factors of 6 abc, 24ab? and 12 a?b

6abc=2x3xaxbxc
24ab?=2x2x2x3xaxbxDb
12a’b=2x2x3xaxaxb
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Common factors of 6 abc, 24ab? and 12 a2b are 2, 3,a, b
and,2 x 3 xaxb=6ab

(vi) Factors of 16 x° , - 4x2 and 32 x

16 X3 =2%x2%xX2X2XXXXXX

4X2 =1 X2X2XXXX

32X =2%X2x%x2x%x2%X2xX

Common factors of 16 x3 , - 4x? and 32 x are 2,2, X
and, 2 x 2 x x = 4x

(vii) Factors of 10 pq, 20gr and 30 rp

10pg=2x5xpxq
20gr=2x2x5xqxr
30rp=2x3x5xrxp

Common factors of 10 pq, 20gr and 30 rp are 2, 5
and, 2 x5=10

(viii) Factors of 3x?y3, 10x3 y? and 6 x?y? z

3X2Y3 =3 XXXXXYXYXY
10x3 y2=2 X5 XX XX XX XyXy
BXPY?Z=3 X2XXXXXYXYyXxZ

Common factors of 3x? y3, 10x® y2 and 6 x? y? z are x? , y?
and, x2 x y2 = x2 y?

2. Factorise the following expressions
(i) 7x - 42
(if) 6p — 12q
(iii) 7a% + 14a
(iv)-16z+202°
(V)20Pm+30alm
(vi) 5 x%y - 15 xy?
(vii) 10 @ - 15 b? + 20 c¢?
(viii)-4a?+4ab-4ca
(iX) X2y z+Xxy?z+xyz?
(X)ax?y+bxy? +cxyz
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Solution:

(f) Tz=Txx

42 = 2x3x 7

The common factor w8 7

L Tx—42 = (Txx)-(2x3xT7)=Tix-6)
(fi) 6p=2x3xp

12g=2x2x3x9q

The common factors are 2 and 3
chp-12g=(2x3np)-(2x1xiIng)
=2x3[p-(2xq)

=6({p-2g)

{n'f]'.-‘a:—.'.-‘xuxa

lda=23xTxa

The common factors are 7 and a

Ta +lda=(Txaxa)+ (2=xTxa)
=Txala+2]=Ta (a+2)

(fv) loz=2x2x2x2xz

W2 =2x2xSx=ncox
The common factors are 2, 2, and =z
w16z 4202 = ~(2x2x2x2x2)+(2x2x5xzx=x2)
= (2x2xz) [-(2x2)+ (Sx=xz])

= 4=(—-4 + S::j

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

]
m BYJ U S NCERT Solution For Class 8 Maths Cha

The Learning App

(v) 20°m =2x2xSxIxlxm
alm =2x3xSxaxlxm
The common factors are 2, 5, /and m
|
L 2007°m +30alm = (2x2xSxIxlxm)+(2x3x5xaxlxm)

= (2xS5xIxm)[(2x1)+ (3xa))
=10im (2! + 3a)
1\‘1’)5.\'2}'-Sx.\"x.\'xl\'
lS.\j':=3x5x.tx_\'x_r

The common factors are 5, x, and y

o

X y=15x =(Sxxxxxy)-(3xSxxx yxy)

i

=Sxxx y[x~=(3xy)]

=Sxy(x-3y)

(vii) 10 a® - 15 b + 20 ¢?

10a°= 2x5xaxa
-15b%2 =-1x3x5xbxb

20c? =2x2x5xcxc
Common factor of 10 a%, 15b% and 20¢? is5
10a2-15b%+20c?=5(2a°-3b?+4c?)
(viii)-4a’+4ab-4ca
-4a%?=-1x2x2xaxa

4ab = 2x2xaxbh
-4ca=-1x2x2xcxa

Common factorof -4 a%,4ab,-4caare2, 2, ai.e. 4a
So,

-4a%+4ab-4ca=4a(-a+b-c)
(iX) X2yz+Xy?z+xyz?
XPYZ=XXXXYXZ

XyZZ:xxyxyxz
XYZ2=Xxyxzxz

Common factor of x>y z , x y’zand xyz? are X, y, zZ i.e. Xyz
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Now, X’y z +Xy’z+Xxyz*=

(X)ax?’y+bxy> +cxyz

axly=axxxxxy

bXxy =bhxxxyxy

CXYZ=CXXXYyXZ

Xyz (X +y +2)

Common factors of ax?y, b x y? and ¢ x y z are Xy

Now, ax?y+bxy? +cXxyz=xy(ax + by + cz)

3. Factorise.

(i) x2+xy+8x+8y

(i1) 15 xy —6x + 5y — 2
(iii) ax + bx — ay — by

(iv) 15 pg + 15+ 9q + 25p
(V)z-7+7xy-Xxyz

Solution:

(fy " +xp +Br+By=xxx+xxp+Buxr+Buy

(i)

rix+ p)+B8(x+ ¥)
(x+ ¥) (x+8)

15 —hx+5p—2 =2 Iudwaxx p—FIx2wze+Sny—12
Ix(5y-2)+1(5y-2)

(5y=2){3x+1)

(fii) ax +bx —agy — by =axx+bxx—dax y—bxy

xla+b)y= via+ h)

(a +0)(x-y¥)

(fv) 13 pg + 13 +Y9g+25p=15pg +9g+25 p+15
=3NS x prg+InIxg+Ixdp+Ind

=3¢ (3p+3)+3 {5p+3)

={3p+3) |13g+ 3)

(v) z=T+Ty -0 sz=—xu =T+ Txxxy
=z{l-x)-7 (1 -2x¥)

={l=-x] (z-7])
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